LIVE ELECTIONS MAY 2012
First Preference By Ballot Box Report
Wester Ross Strathpeffer and Lochalsh Ward

04/05/2012
Numbers of Preferences allocated to each
Candidate

COIGACH (063) / ULLAPOOL 1 (064) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 46 38 33 31 6 5 4
lan COCKBURN 51 47 12 4 7 6 4
Richard lan GREENE 75 59 43 15 5 3 1
Alaine MACDONALD 18 7 12 9 7 5 11
Richard MITCHELL 67 33 46 17 4 6 3
Paul MONAGHAN 41 45 24 10 10 5 3
Audrey SINCLAIR 23 47 35 12 12 4 1
ULLAPOOL 2 (065) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 31 19 21 12 3 2 1
lan COCKBURN 38 40 7 6 5 2 0
Richard lan GREENE 64 37 25 13 5 1 0
Alaine MACDONALD 5 6 5 2 1 5 5
Richard MITCHELL 48 31 25 8 2 1 2
Paul MONAGHAN 34 42 17 11 5 1 0
Audrey SINCLAIR 15 21 32 6 7 3 2
BADCAUL (066) /AULTBEA (067) /POOLEWE (068) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 55 44 29 22 9 6 2
lan COCKBURN 43 34 14 8 8 6 5
Richard lan GREENE 186 64 36 6 3 3 0
Alaine MACDONALD 18 14 17 18 8 7 9
Richard MITCHELL 16 55 61 29 8 4 0
Paul MONAGHAN 24 43 15 7 8 8 10
Audrey SINCLAIR 31 50 59 22 14 3 7
GAIRLOCH (069) / OPINAN (070) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 19 57 37 21 1 8 2
lan COCKBURN 26 42 15 8 9 4 3
Richard lan GREENE 231 30 23 4 1 1 1
Alaine MACDONALD 11 12 8 7 3 4 13
Richard MITCHELL 11 40 60 30 13 1 3
Paul MONAGHAN 17 31 26 17 6 5 3
Audrey SINCLAIR 18 67 46 23 9 5 1
KINLOCHEWE (071)/ APPLECROSS (072)/ SHIELDAIG (073)/ TORRIDON (074) 1st 2nd 3rd 4th 5th 6th 7th




Biz CAMPBELL 63 55 33 10 4 3 0
lan COCKBURN 46 17 13 7 3 4 2
Richard lan GREENE 42 28 44 16 9 1 1
Alaine MACDONALD 12 9 9 5 7 3 8
Richard MITCHELL 2 10 20 31 5 8 3
Paul MONAGHAN 7 47 12 6 5 4 4
Audrey SINCLAIR 76 54 30 12 4 1 0
KISHORN (075)/ LOCHCARRON (076)/ COULAGS (077) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 133 28 28 8 2 1 1
lan COCKBURN 56 17 15 11 4 7 0
Richard lan GREENE 13 55 42 16 4 3 0
Alaine MACDONALD 18 12 10 7 9 1 5
Richard MITCHELL 8 16 35 25 10 3 2
Paul MONAGHAN 8 43 15 7 5 4 7
Audrey SINCLAIR 46 59 29 15 5 1 0
ACHNASHEEN (078)/ GARVE (079)/ STRATHPEFFER (080) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 139 46 41 20 4 2 2
lan COCKBURN 66 93 17 9 1 9 2
Richard lan GREENE 33 67 47 25 6 5 2
Alaine MACDONALD 48 30 20 12 13 5 14
Richard MITCHELL 19 29 39 28 16 5 2
Paul MONAGHAN 90 55 30 19 2 4 6
Audrey SINCLAIR 23 39 51 18 14 5 3
CONTIN (081) / MARYBANK (082)/ STRATHCONON (083) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 75 45 31 19 7 5 5
lan COCKBURN 55 76 16 12 10 7 3
Richard lan GREENE 41 36 45 19 9 1 0
Alaine MACDONALD 47 15 12 6 8 5 11
Richard MITCHELL 8 24 33 29 8 6 3
Paul MONAGHAN 81 59 16 12 1 7 8
Audrey SINCLAIR 30 32 57 11 11 7 4
ACHMORE (084)/ PLOCKTON (085) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 71 52 22 10 4 1 2
lan COCKBURN 42 21 24 3 7 4 0
Richard lan GREENE 2 13 34 19 9 3 1
Alaine MACDONALD 3 2 7 8 6 5 9
Richard MITCHELL 3 8 20 18 3 9 7
Paul MONAGHAN 8 44 10 14 2 5 5
Audrey SINCLAIR 88 59 18 5 2 2 0
AUCHTERTYRE (086) / DORNIE (087) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 79 51 13 11 3 1 1
lan COCKBURN 39 23 19 10 5 3 3
Richard lan GREENE 7 10 24 17 8 8 0
Alaine MACDONALD 5 10 7 3 7 3 9
Richard MITCHELL 5 10 17 19 12 6 2
Paul MONAGHAN 10 37 27 10 3 3 3
Audrey SINCLAIR 73 57 34 6 0 0 0




INVERINATE (088)/ GLENELG (089)/ ARNISDALE (090)/ GLENGARRY (092) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 150 24 9 2 2 0 1
lan COCKBURN 18 22 16 6 3 3 2
Richard lan GREENE 2 11 28 14 4 2 2
Alaine MACDONALD 10 6 5 3 3 1 6
Richard MITCHELL 2 8 13 10 5 6 0
Paul MONAGHAN 4 18 11 10 5 3 2
Audrey SINCLAIR 35 78 24 4 1 1 1
KYLE (091) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 59 49 9 8 3 4 2
lan COCKBURN 34 17 27 5 3 0 0
Richard lan GREENE 12 20 29 9 5 5 1
Alaine MACDONALD 5 6 7 9 1 1 8
Richard MITCHELL 1 17 21 8 6 6 2
Paul MONAGHAN 7 42 11 14 5 3 1
Audrey SINCLAIR 104 32 14 8 1 0 1
POSTAL (093) 1st 2nd 3rd 4th 5th 6th 7th

Biz CAMPBELL 242 119 63 38 5 10 3
lan COCKBURN 118 89 36 28 9 18 7
Richard lan GREENE 163 97 105 47 20 3 0
Alaine MACDONALD 57 38 26 21 18 8 25
Richard MITCHELL 44 71 112 63 31 13 3
Paul MONAGHAN 47 122 51 19 18 9 16
Audrey SINCLAIR 114 131 117 57 20 11 8

NB The STV election results cannot be calculated from these numbers.




